Juobogdo
Jubootdbbotgtdbootdbbotdbootdtun
(DoDbOoDoDoooooboooo)

JoOOo(0)ooo)

Juogubootd

good

1. 00o00boooboooboooboboobobooobooba
gad

2. 00000000000 on
3. 00 LIIOoooooooooon

4. 00 LI O0ODO0o0Oooooooooooouuoooooooad
gogdgooouoooobobobbobbboouud Lnoooad
goobobboooobobbbooooobobb

5. Joboboobooobgobtobobtbbbouoboboobobd
Joooboobbooodootmd

6. o uooouoobobooood



1. 00 000000 /000000000000000000000000000000
0000 (z,y4,2) 0000 (fP@) 0000 (0 1)0000000000000000000
000000006 =0(:00000)0000000000000000¢0000000
000000000000000000000

Y
z

ol ogogooo

(1) OooOoOoO0oooOOOo0oO0ooOOoOoOobooOoOoo
(2) DO0ODODODUUOOOOOODUOOCOODODOOOODOUOOOOOO

(3) 000000000 (9 <1)0000000000000000000000000
000

(4) D0O0O0UDUOD(DODUODOUODOOOUD)0UD OOUODDODOODODOODOO
goooooooboobon oobobn

(5) DODODOODUUDOODO =40 0000000O0OOOOOOOOODOOO=p>00
9>00000000000000000000000000 (a>p) 00000000
00000000000 (zmip) OOO0ODOOOOOCOOOCOOOOOOODOOODOOO
ugboooboooobooo



2. 000000000DOO00O0ODOOOODOOO0bD Db OOBOOOD pOOOOOD
00000000000 M=mpe?b0000000000000 I=Mde?/20000)00
ob200000000000000DL000 z200000000D0DLOOODOOO

z = ({+a)sinf
z = ({+a)cosb
000000000 ed —n/2<9<p000000000000LDOO<B< /2000

0000000000 (0200000000 (yO)OOooOoOOOODOoOOoOooooooo
ooooooboboboooooo

z = /{sind

z = {cosb

ooobboebOOODOOOODOOOOOODODg>0O0DOOODOOODOO
gooooboooooon

Y

0
ﬁ .

g9

z
(€sin@, £ cos) 0,¢+a)
g2 00o0o0o0booooooooobooooo

(1) 000000 (z,2) = (0¥+e) 00000000000 POOOOOOOOOOOOO
000000 PO (r,2) 0006000000000

(2) boopooUoooOOo 0000000
(3) D00 ¢=0000000000OOOOOOOODOOOOOOO

(4) 000 6=4000000000000000000000000000000 6=—a
(a>4)006=000000000000 0O000000000000000000
00 (2min) 00000



I1

00 mOOOOO0O0O0O0 w0 1O000000000000000000000000000
Hy O

2 2 d
Hozp——i-%x?, p=—ih—

dz
TN
“= 2h o mwp

00000 [a,e']=100000,000000000

good

1 o0

on(@) = ——(a))"po(z), DODO  apolz) =0, /dxwo(xn?:l

n. —00

oooog
1. [a, (@] =n(e)"'0nr,=100000000r>2000000000000

2. HyO o'« 00000001 000000000 ¢,(2)0 HoOOOODDOOOOO
ooooog e, 00000

3. Jgnoooooon

[ wa@ente). [ wa@een

—0o0 —o0

goooobobobooo HO

h
H=Hy+\V, V:—;«Jf+aﬂ

O0000000000000 AD —-1<A10000HOOOOO EOODOOOO ¢(x)
oooo



4. HyO n 0000000 ¢,(x) ODOOO AV OOOOOODDODOOOOOXAODODODOO
ooogo

E=¢€,+AEy+XNEy+---, P(z) = () + My (x) + N2apg(z) + - -

agod -
/dwz(wwk(w):o, k=12, -

— 00

ooog

(1) AODOOOOOO

(Ho — €n)p1(z) = (B1 — V) pn()
(Ho — €n)tha(x) = (E1 — V)91 (2) + Eapu()

0ooo
(2) {,=0000000,E,0¢&,0000
5. Hy =Fy 0000000w, v 000000 b=wa+vel 000000000 u>0
0ooo
(1) [b,0']=1000000w0 00000
(2) (1)ooOoOoOoooo0O

zy:ﬂunhw0%+%>+ﬂmmﬁwawﬁ+w)

0000 f(v,\), g(v,\) 00000

(3) ylv, ) =00000000 0000 flo,A\) D ADDD0OO fAN)DOOOOfN)DO
0O0oA000000
E=¢€,+NEy+0(X\)

0000000000000 E, 0D04.(2)000000000DO

(4) g(o,\)=00000HOO0O000 9p(x) O bpo(z) =00000 9ho(z) x @o(ax)
O000«O XNOOOO



